Qtormotive @z?éwg @

Roller Shutter
Installation manual

TRITON L200




Before installation

Please read the instruction completely for easy installation, which will also help you to avoid
scratches or other potential damages to your appealing car.
Please periodically check and retighten all the hardware and clean the investment for a

refresh look.
The figures here are for reference only and may have differences with the actual product you

received, however they share the same assembly way.

o O

es e et
oo o ol cf of

¥

Yo




mmlTools and materials needed

10 mm
‘_"-:F: T
@ 3,5 mm

@ 30 mm s, 130

Installation Steps

% .f_.g;:
: 2 g 2
N

1. Cleaning the trunk and margin by water X, dismantling the other unnecessary part
for clean and tidy.

\ius?

2. Install the track (B)\®)) on the rolling box (@) with )




4. Find the 2 holes on the front of the trunk, then install the drain ring on it. Both sides
should be same.

5. Install (© plate on the tracks with (@) .




6. According the holes on the front track, drill 4 holes on the front of the trunk. (as

above picture shows) Then install the front track with @9 M4 screws

7. Put the @ brackets on the side of the trunk and drill holes on the trunk, each

bracket 2 holes. Then install the brackets with @ cross pan head screw.

Notice: each bracket should be kept in same distance. 3 pieces each side.




8. Put the roller shutter on the vehicle and adjust it to appropriate position.
between the side tracks should be same from front to rear part.

Distance

9. Screw in the M6 screw into M6 square nut then put into to the side track. Picture

above is part list in 6 sets, 3 sets for each side track.

10. Install the brackets () as the picture shows above.




12. Fixing the brackets with @ D6 washer, M6 inner hex bolt and M6 nut




14. Threading the drain-pipe outside of the trunk.




16. Testing: Roller shutter should runs smoothly and could be stopped at three
positions.

17. If the roller shutter do not runs smoothly, you can follow below steps: (as the picture shows)
a. Put some lubricating oil on the side track.

b. Adjust the spring.

(Notice: These 2 steps should be done every 3 months, but you can do it if needed.)









